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A. a fabric consisting of McData directors 
B. a fabric consisting of Emulex switches  
C. a fabric consisting of Brocade switches 
D. a fabric consisting of Gadzoox switches 

Answer: A, C 

QUESTION: 93 

What are two versions of cabling used in high availability configurations? (Choose two.)  


A. cross 
B. parallel 
C. straight 
D. multiplex 
E. synchronous 

Answer: A, C 

QUESTION: 94 

What does the use of DRM in a Compaq heterogeneous SAN require? 


A. ATM links 
B. dark fiber links 
C. Level 3 configuration 
D. Level 4 configuration 

Answer: D 

QUESTION: 95 

What are two advantages of non-SAN based centralized backup? (Choose two.)  


A. automated operation 
B. no single point of failure 
C. centralized management 
D. does not interfere with LAN bandwidth 
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Answer: A, C 

QUESTION: 96 
Which two affect data storage performance in an SAN-based EBS environment? (Choose 
two.) 

A. feed source 
B. LAN bandwidth 
C. data compression 
D. 50 um multimode fiber  
E. 62.5 um multimode fiber  

Answer: A, C 

QUESTION: 97 
A customer has multiple disk subsystems in a heterogeneous SAN that includes a mix of Sun 
and Windows 2000 Servers. Each server currently has its own tape backup device. Currently, 
backup requires 16 hours and requires three operators. How can an EBS SAN solution 
benefit this customer? (Choose three.)  

A. It simplifies backup management. 
B. EBS shortens the backup window. 
C. It better utilizes hardware investment. 
D. It allows the concurrent use of all host-based tape drives. 
E. One server can better handle all the backup for the LUNs in the SAN. 

Answer: A, B, C 

QUESTION: 98 
A customer has seven servers running Windows 2000. Five of the servers are running the 
client component of Backup Exec 8.6. The last server is designated as the ADAMM server 



 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

A. attaching an MSL5026 (SDLT drives) to an MDR and the MDR to a 7 port hub 
B. attaching an MSL5026 (SDLT drives) to an MDR and the MDR to a SAN16 switch 
C. attaching an SSL2020 (AIT 50 drives) to an MDR and the MDR to a SAN16 switch 
D. attaching an TL891DLX (DLT 40/80 drives) to an MDR and the MDR to a SAN16 switch 

Answer: B 

QUESTION: 99 
In a Windows NT and Windows 2000 Server environment, Backup Exec will support a 
maximum of _____ in a single EBS storage domain and data zone.  

A. 8 servers and 16 tape drives 
B. 16 servers and 16 tape drives 
C. 20 servers and 20 tape drives 
D. 32 servers and 32 tape drives 

Answer: D 

QUESTION: 100 

What are backup zones created to do? (Choose three.)  


A. support two tape drives 
B. restrict the number of servers 
C. limit access to the tape libraries 
D. isolate LVD and HVD tape libraries 
E. segregate tape libraries by OS platforms 

Answer: B, C, E 

QUESTION: 101 

What information must be gathered in order to use the EBS sizing tool? (Choose two.)  


A. backup window 
B. the EBS software vendor 
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C. number of existing tape libraries  
D. Fibre Channel HBAs being used 
E. the type of data being backed up 

Answer: A, E 

QUESTION: 102 

Which statement about an EBS sizer tool is true?
 

A. It is a free download from Compaq. 
B. It must be purchased from Compaq. 
C. It must be obtained from a desired ISV. 
D. It comes packaged with all Compaq libraries. 

Answer: A 
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